50, will be treated as malpractice.

g blank pages.

pulsorily draw diagonal cross lines on the remainin
peal to cvaluator and /or equations written eg, 42+8

2. Any revealing of identification, ap

Important Note : 1. On completing your answers, com

I
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USN [ ] ] 09ENG65
Sixth Semester B.Arch. Degree Exanifnation, July/August 2021
Structures - VI
Time: 3 hrs. Max. Marks: 100

Note: 1. Answer any FIVE JSull questions. ol
2. Use of IS 800 and SP-6(1) permitted.”
3. Assume any missing data suitably.

1 a. State and explain “Design strength'6f a Bolt”. . ‘ (06 Marks)
b. Two plates of 410 grade and-of thickness, 8 mm each are f&p jointed using 16 mm dia. bolts

of grade 4.6 calculate the desigh strength of bolt.. (14 Marks)

2 Calculate the design load {P%for the joint shown in Fig,Q2. 18 mm dia grade 4.6 bolts are used.

Py -y P
/ 'r.\&?‘f*‘-‘—’k.__"_:.,_—'uqo u"&
[N -’ \‘;’:"’

6o
co :
- b-r’}a.ck"‘-'
- ¢ AN T ptate 12me
g hitex .
‘ ’ / N ) N
g 12. Q Wy (20 Marks)

\

. \ ("’ 2. A "@.zs,;::;,
3 Calculate the'size of weld reqpiife?i}:for the joint showr‘l\) | Fig. Q3.

L 4 ‘ml{“s P
B L —_———
R A

ey "&:,‘.},!'
'too ‘
M

Fig, Q3 (20 Marks)
| of 2



09ENG65

Design a single angle section for a tension member of & £00f truss to carry a factored tensile
force of 225 kN. The member is subjected to the possiBle.reversal of stress due to the action of

wind. The effective length of the member is 3m Use 20mm shop bolts of grade 4.6 for the
connection . (20 Marks)

In a truss a strut 3m long consist of two angles ISA 100%x100x6mm. Find.the factored strength of
the member if the angles are connected on bofh sides of 12mm gusset by ,

a. One bolt.
b. Two bolts. ’%‘*‘- , /
¢. Welding, which makes the joi télghd o (20 Marks)

ﬂmA}
Design a slab base for a columﬁIﬁB 300@ 577N/m carrygxg ‘an axial factored load of 1000kN
My concrete is used for the- fou'hdauon Provide welded connection between column and base
plate. NS 3&" (20 Marks)
%{@
Design a beam for a roofic of size 7.5m x 12m. Provided 100mm thlck RC slab supported on steel
beams at 3m apart /e, Live load and finishing Toad taken as 4 KN/m? and 1 kN/m? respectively.

Take limiting deﬂectmn as span/250, Assume \‘Vall thickness, self weight of beam as 250 and
1 kN/m respecfl%ely

| (20 Marks)
¢

Write shoft\no es on ’{? .4 A Y

a. Fire protecuon for steel structur?ﬁ‘* ‘;o%%s’

b. Defects in welded connection with sketches. o

c. Advantages and disadvantages of Bolted connectlbnaover welded.

d. Types of Compression: and,wTenswn members uéefé with sketches. % (20 Marks)

‘y
s
‘\‘\!’,";"

*RERE
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